o A D
PR A T A BB R 2

KA s

rE My A A A B4
0 75 TR L B 2 I BVNS@E 5E D
e CrkWRE S E%abh £

—a

BL
10 OmYikeE 113, 17 06#%
20 0mWPyk= 2:37.76 06k
40 0mBH®HE 4:40.199 06/

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




o A D
PR A T A BB R 2

K4 Jidr £ H

TR My A A bR
& 72 TR L i B = I ISVNSQRE FE D
FdR Tk T ERERL X T

—a

BL
5 0mHEH 32.34  05#%
100mHEHBE 1:12.03 04#%

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




o A D
PR A T A BB R 2

K4 BEH kT

rE My A A A B4
0 75 TR L B 2 I BVNS@E 5E D
e CrkWRE S E%abh £

S
50mz3% 7oA 35. 39 04%%
10 0mEHKS 1:24.62 02k

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




o A D
PR A T A BB R 2

3

K4 BB JE T
rE My A A A B4
0 75 TR L B 2 I BVNS@E 5E D
e CrkWRE S E%abh £

=
N}
5 0mHEH 31.97 04#%
40 0mHBEHBE 5:11.31 05%%
20 0mfEANARL— 2:40.50 06k

ERIEN KRR R

SF0 5 4 12 H 17 H

BB (D) BEUKKGEN  RRUERS

=~

A VARNEVE NV SV ANG  Sa =T




Vav,

a5
HERT AR 2 2K KB B R =

3

K4 /B HE

FiE My A A L

b 73 TR S 2317 SOV AL D
ek L =

—a

W
50mE kX 36. 40 03k
100mHEHRIE 1:09.567 04k
40 0mEH® 5:12.77 05#%

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




w4 5\
Y I3, S A
FE R PR 2 227K PR 5 R
K4 i UK
g My A A L4
B 72 TR L L= I B UNSERR 5E D
ok R £ 5

—a

W
50mE kX 38.02 02k
1 00mYks 1:27.98 03:f%
40 0mEH® 5:12.86 05#%%

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




o A D
PR A T A BB R 2

K4 EWE ik

g My A A AL
B 72 TSR B B = 12 FIOVNE@RR 5C D
SEE kWS &Rk 1

—a

3L
50mz¥ 774 EME
100mEFkE S HE

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




o A D
PR A T A BB R 2

K4 AR ek

rE My A A A B4
0 75 TR L B 2 I BVNS@E 5E D
e CrkWRE S E%abh £

—a

S
50miEkE 37.28  05#%
10 0mBH®HEE 1:14.87 04:8%

ERIEN KRR R

ASF0 5 4E 12 A 17 H

% (—fh) EEKEKER DR R e
=y VAR AN NV NG S o




